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Outcome 4 - Dividing Negatives |

Bronze examples Silver examples Gold examples i:_
|

xampie.s... A xamples... A Exampies... a

A mixturel i
40+5=8 |
-33+11=-3 3
18 + (-2) = -9 5

Positive + Negative = NEGATIVE!
Negative -+ Positive = NEGATLIVE!

30+(-3)=-10

Negative + Negative = POSITIVE!
15+ (-5)= 3
.54 + (-6) =9

-42 7 =-6

-64+(-8)=8

vy - Ty

Bronze Questions g  Siver Questions s
& 12+(-2) & 33<(11) @ & -8+(-4) & -60=(-6) &
« -32+4 4 10+(-1) w -40:(-8) & -4+(-1)

& 40-+(-8) & -72+9 * -40=(-5) & -24=(-6)

Z -36-+4 8 24-(-6) &L -63=(-9) 8 -72+(-8)

8 -100-10 L8 -81:9 & -16+(-4) &8 -55+(-5)

Gold Questions

w 48+4 & 6+(-6) Z

- -88+11 4 -36+(-6)

& -b4-+6 8 36-(9)

Z -81+(-9) 8 -60=(-20)

& -48-+8 K& -21+(-3)
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